GR 11 REVISION:  EQUATIONS AND INEQUALITIES
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Exercise 5
1. Solve for.x and y i the following equations: x + 2y =

and 27 -y 46 =

2. Determine the simultancous solution of 2+ ~ Sxy + 3y” = 4 and 3x - 4y =5,

3. Determine the values of x and y correct to two decimal places: 2x —y = 1 and
3y

4. Solve for x and y correct to two decimal places: 3" — 2y +y* = 1 and
3x-2p=1

Determine algebraically the coordinates of the points of interscction of the
graphs of x—y =3 and xy = 28.

6.1 Determine the points of intersection of the graphs of * + )* —xy =0
andx-2y

6.2 What conclusion can we draw from the answer in 6,12

7. 7.0 Solve for vandy: 3¢° - Tay — 6 = 5 and 3x-+ 2y = 4.
7.2 What conclusion can we draw from the answer in 7.17

and 4

8. Solve forvandy:x 2y 6.
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Astone is thrown into the air, and reaches a height of & metres after / seconds.

The formula for the path of the stone is given by = 36/ - 167", Determine:

9.1 the maximum height reached by the stone

9.2 how many seconds it takes the stone to reach its maximum height

9.3 the time interval(s) in which the stone was lower than 18 m above the
ground.

10. A farm dam has a capacity of V litres. A small pump can be used to fill the dam
in x hours. A larger pump, operating on its own, can fill the dam in 12 hours
less than the smaller pump. Working simultancously, the pumps take S hours
to fll § of the total capacity of the dam. How long would it take each pump.
working individually to fill the dam?

11. A group of learners decide to have some coffee after an exam. The bill comes
to RI44 and must be paid by the group. Six learners cannot pay, so all the
others must pay an extra R2 each. Determine the number of learners in the
group.

12. A boy cycles (o his friend’s house at 8 kmv/h and back at 12 kmvh. What is his
average speed? (Note: it is not 10 km/ht)

13. 26"~ 165" + 35 can be written in the form 2(* - 4)° + k:
13.1 What is the value of  and the minimum value of 2¢° — 16x” + 357
132 Find the value of x that gives the minimum value of the expression.

14, Find two numbers 50 that their sum, difference and product form a ratio of
6:4:15.
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11. Prove that the roots of (x —3)(x + 1) = x(p — 3) - p are real for all values of p.

12.1f ke R,x#6, show that k= ** #4024 can be any real value except values
between 4 and 28.

13. The roots of the equation (x + 2)(x + k) = 2 + 3x are non-real. Determine the
possible values of k.
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Exercise 1
1. Solve the following equations, giving the answers correct to two decimal places
‘where necessary.

LI 5 +8c=0
1312874 13x-
15 -7 -13x=12
17 4x-1=0

2. Use squares completion to solve for.x, correct to two decimal places where
necessary.
21 ¥+2=15
22 47— 120-10=0
23 Tw=302+1)
24 2%+ 2px-3a=0

3. 3.1 Solve forxif 3¢ - 8x=3.
3.2 Use the solution of 3.1 to determine the values of k if
3(1+ 267 - 8(1 420 -3 =0,

4. 15 is one of the roots of mx” — 13v— 10
4.1 the value of m
42 the value of the other root.

5. Determine the roots of (3x — 1)(x —2) = 1, correct to two decimal places.

s

6. Solve forx if

i andx#2:0: 6.

) B

7. Solve forxif 5575 + 2 andx# -3,
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8. 8.1 Solve for kin K*~ 5k +4=0,
82 Hence solve for x in: (" - 3x)” ~5(x” ~ 3x) + 4 = 0, correet to two decimal
places if necessary.
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Exercise 2: Complex procedures and problem solving

1. IF(F = 90— 4) = 0, determine y if:
L ox=-3 12 x=7

Solve for v, correct to two decimal places where necessary:
21 127045 5r=0 22 3(1-x-201-x)-1=0

23 =7 24 @40 -67-3x+2=0

3. Show that there are an infinite number of quadratic equations with roots of 3
and -5.




